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* 1 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings

= (3)

a7 =
ayp =
az =

ag = (
—u3
ag = (u3+u>
u? +2u” +3u® +2ud +u
o 207+ +ud +u
—u?t — 4yt + o —2ud —
—u? —3u + . —2ud +u
(—us—uﬁ—u4+1>

ag =

u® + 2u8 + 2ut + 20?2
u?0 4+ 3u!® + Tul® + 100 + 100w + Tul? + uf — 208 —3ut —u? 41
—u20 — 4418 — 10u® — 18ul* — 23u!2 — 244,10 — 18u® — 10u® — 3u?
—u3? —5ud0 . —2u? + 1
w32 4+ 6ud0 + - 4 20t + 202

—u3? —5uP0 . —2u? + 1
a10 = \u3? + 6u®0 4 - - 4 2ut 4 202

(ii) Obstruction class = —1

(iii) Cusp Shapes

= 4u3 + 4u30 + 200 + 2008 + 72027 + 68u?0 + 1761 + 164u* + 344u?3 + 308u>? +
536" +476u?0 +688u'? +600u 8 +736u!7 + 64416 + 6444 + 57204 +468uE + 424412 4
268u!! 4+ 260019 + 120u° + 120u® + 5207 + 48ub + 20u® + 12u* + 20u® + 4u? + S8u + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq WP uP 4+ ru—1
Ca,C7 P+ 11+ +5u—1
€3,C4,C5 WP 1
Cy, C10
s u w4 4 21lu -5
c11 uB -5+ +33u—7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, e B 1132 sy — 1
2,7 Y3 42332 4 dly — 1
€3,C4,C5 v A3+ 5y —1
€9, C10
c8 y* 4+ 3% 4+ — 299y — 25
c11 Y+ Ty 4 — 563y — 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.783792 + 0.6812251

—0.01786 — 3.598561

5.28807 + 3.520731

IS

0.783792 — 0.6812251

—0.01786 + 3.598561

5.28807 — 3.520731

<

—0.101718 4- 1.0359801

—6.05867 — 3.578651

—2.55817 + 4.870551

~
IS

—0.101718 — 1.0359801

—6.05867 + 3.578651

—2.55817 — 4.870551

—0.812759 + 0.6567751

—9.39854 + 5.156351

4.07009 — 1.998251

—0.812759 — 0.6567751

—9.39854 — 5.156351

4.07009 + 1.998251

0.064287 + 0.9494881

—2.15241 + 1.324891

2.26975 — 5.192641

0.064287 — 0.9494881

—2.15241 — 1.324891

2.26975 4 5.192641

—0.755741 + 0.7275801

3.31791 4 0.711421

11.21363 — 1.678631

—0.755741 — 0.7275801

3.31791 — 0.711421

11.21363 + 1.678631

0.721580 + 0.7914741

1.87533 + 2.236761

7.14983 — 4.955901

IS RS ESE R B -~ E~

0.721580 — 0.7914741

1.87533 — 2.236761

7.14983 + 4.955901

~
IS

0.113164 + 1.0809201

—15.7697 + 4.79781

—2.88521 — 3.434711

0.113164 — 1.0809201

—15.7697 — 4.79781

2.88521 4 3.434711

—0.564868 + 0.9314831

—3.48793 — 2.094741

0.20074 4 2.521821

—0.564868 — 0.9314831

—3.48793 4 2.094741

0.20074 — 2.521821

0.529302 + 0.9928311

—13.31430 + 1.590551

—0.39166 — 2.820401

0.529302 — 0.9928311

—13.31430 — 1.590551

—0.39166 + 2.820401

—0.767004 + 0.8677361

—5.87675 — 2.886511

5.60693 + 2.860511

—0.767004 — 0.8677361

—5.87675 + 2.886511

5.60693 — 2.860511

IS RS ESE R B A~

0.689725 + 0.9319691

1.43951 + 3.167441

6.20217 — 0.824281

~
IS

0.689725 — 0.9319691

1.43951 — 3.167441

6.20217 + 0.824281

—0.704961 + 0.9763371

2.56175 — 6.268301

9.09411 + 7.223841

= —0.704961 — 0.9763371

2.56175 + 6.268301

9.09411 — 7.223841

0.706642 + 1.0064401

—0.99856 + 9.235721

3.44794 — 8.320041

0.706642 — 1.0064401

—0.99856 — 9.235721

3.44794 4 8.320041

—0.710292 + 1.0264501

—10.5163 — 10.88051

2.22808 + 6.706991

—0.710292 — 1.0264501

—10.5163 + 10.88057

2.22808 — 6.706991

0.648089 + 0.2726781

—11.39430 4 2.643741

3.80222 — 2.502551

IS RS ESE R B A~

0.648089 — 0.2726781

—11.39430 — 2.643741

3.80222 + 2.502551




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.526368 + 0.2486141

—2.09314 — 1.782801

4.63198 + 4.395401

u = —0.526368 — 0.2486141

—2.09314 4 1.782801

4.63198 — 4.395401

u =

0.374260

0.658769

15.2590




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢e uB Ut fu—1
Ca,C7 u 4+ 11w - Bu— 1
C3,C4,C5 u33+u32+..._u—1
C9, C10
s u w4 4 2lu—5
C11 U3375U32++33U*7




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C6 Y 4+ 11y%% -+ 5y — 1
Co,C7 Y3 42332 4. 4ly —1
€3,C4,Cs5 Y3 4432+ 4By —1
C9, C10
cs Y3+ 3y3% 4+ — 299y — 25
11 Y33+ Ty 4 — 563y — 49




